Wireless Multimedia System
Homework 3: (Due December 6 9:00 AM, 2003)
1.Explain why CSMA/CD cannot be supported in 802.11? What is the hidden terminal problem? How does 802.11 address on hidden terminal problem?  What is the exposed terminal problem? What is the near/far (capture) problem?
2.Explain the difference between infrastructure mode and ad hoc mode? Explain the difference between DCF and PCF for wireless LAN? 
3. How does Bluetooth make a connection with partners? What is the maximum number for a Pico network? Explain the difference ACL link and SOC link? 
4. Explain the difference between GPRS and GSM? How GPRS could obtain higher data rate? Does GPRS and GSM share the same radio access network or core network?
5. .(a) What are the difference between Active Mode and Power Saving Mode?
  (b) How does Power Saving Mode Station know when to wait up to get the TIM (Traffic Indication Map)? 

  (c) What is the purpose of TIM (Traffic Indication Map)?

  (d) How does Power Saving Mode Station to inform AP that he is ready to accept the buffered data?

  (e) For BSS multicast services, how does AP transmit multicast or broadcast to all of the Stations if at least one of the stations are in power saving mode? (hint DTIM)
6. Explain the way for aloha protocol? Explain why Slotted aloha is better than aloha? 
7. Consider an indoors 802.11a LAN that operates in a small office environment. Suppose the transmitter and receiver are located 6 m apart and there is a reflection point on the ceiling that contributes to multipath effects. 

(a) If the ceiling height is 4 m relative to the transceiver levels, what is the time delay between signals going directly from the transmitter to the receiver and those bouncing off the reflection point?

(b) If the system operates at 54 Mbps, what is the effect of the delay on the signal spread?

(c) If the signal attenuates as r2 in propagating through the air, what is the strength of the reflected to the direct-path signal? Assume an ideal reflecting surface.

(d) How does 802.11a deal with hidden terminal problem?
